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Instructions :

. STufSATY - s, (ST - STaee )
SECTION A :

. TEFTCHERRIAY (TEHTeHeR T )

SECTION B :

Unseen Reading Comprehension

Writing Skills

. STTIIHEATRH (ST TR
SECTION C :
. ufSq- gy (afed-sraste)
SECTION D :

Applied Grammar

Reading Comprehension

(i) @ Y93 TeR: GUST: di |
5G yT-97 H AR @S & |

The question paper has four sections.

(ii) TRF @S ST I G T I G |

URIF GUE ¥ I UF & 58 W AT 8 fora 8

The answers to each section must be written at one place.

(ili) ST FATATAR TR AT |
YT~ & SR T -GET] S & [era] & |

10 A=

15 A=

25 ASn

30 H=

Write the question number according to the question paper.

(iv) T AT I G G |

T} 7 & I dewd 4 [y |

Answer all the questions in Sanskrit.
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@Ue: ‘&% (SECTION A)
ST - SraaerH (rufeaior—sraaie)
Unseen Reading Comprehension 10 HFT:

HHIfTRIaH 1= Tfdea YEayeTT, ST Heh foraa|
frferfiaa srgeae i vea fau 7o g i & 3o aepa § fafau |

Read the following prose-passage and write the answer of the given

questions in Sanskrit.

TG I - i -IRg - e - iR -awa” 3fd wg e wafk | g
qE: U FAA| T TG T AW W sEfd)| qa 9 =JE
wafd | 8= 51 Tl Il W - OIed: gifcehicaaye | 9= ga7 A
ﬁaﬁiﬂﬁﬂﬂ%‘ﬁf: ferferererdt, @@Eﬁﬁq@%ﬁmml AHgH
hlfehere WYLedt: Tt S, SRR | Fel T s wafd| T, 9, |
IAH:, FEN: ¥ THE AR JA T G U Fd: T T iR :
FEYT WO T = Wantafd | o9 Wepfd amm: | ;
() UHYH I | (Al JEIIEaH) ‘/2><4=2E

TF ve2 H IW T (Faet TR 9w

Answer in one word. (only four questions)

(i) FgOS: F: F2Id7

(i)  YRaaN id Fad: waf?

(i) 5= S fopaq wafa?

(iv) 98- 999 &: wafd?

C(v) ATHIE S U Telq S AT ?

(9) qoiETeH 3utd | (had T5EaY) I x2=2
quiaTERy H IR ST (Fee < g



Answer in a complete sentence. (only two questions)

() o= = TgE! Jeqa! Hed:?

(i) G FEATHf: gl gwd?
(iii) @ Feq: a1 At ?

(@) ARSI 3| (Shaed TeTEEaT) 1 x4=4
fréargaR I AR (sheret =T 59)

Answer according to instructions. (only four questions)
() ‘qum:’ 3fa e Fque Y
() T (@) () =
(i) =R T e wHTTe UE foh g
(&) fafaeadh: (@) Fam: (1) g
(i) ‘srferery’ 3fr we foreimTe R SR ?
(%) =M (@) 9] (1) T
(iv) ‘“wd o el wafd| o7 faore foh s ?
(%) & (@) T, () AT
(v) ‘g kg I ‘ay.’ 2fd TS R T
(%) Scga™@ (W) YFA (1) FE=T
(3) TR ST=DeE Fd I Y Hehd forad | )
70 g o foTg I St Hepa A faran |

Write the appropriate title for this passage in Sanskrit.

@ue: ‘@ (SECTION B)

TEATETREHTAH (TEATeHS —hT)

Writing Skills 15 A
5 g o ST 4 T oft stehfRad v wes-NewTe: TR qer
7 ferad| Vax10=5

oo T BT 2| 36 g e @ frd o Reffea o wse A
170 grsai S TETEdT ¥ qul o 38 g fafau)

=
4
[=

3
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Complete the following letter, written by Sanjay to his father, with the

help of words given in the box and rewrite the same.

fawm<-gEEE:,
& RECACICEUIGH
fams:
e (1)
e JOTHT: |
3 (ii) qATEq | 38 T e (i)
afqafs ag wfed 98 o wwmeamd Jafa: wieeen s s
(iv) ST | AT Y|t S -wearal faareEe:
v) ISR | 37d: 378 (vi) el
eI 4 WA "E (vii) FewE, ATl T
(viiy — wfersafa | wigEReEn: w9 (ix) EEEsiel
T4 (x)
[SESIPH

TRy, Jcaeadey  oifaues:, FEE, I,
g, fqreiear:, 98, Jumesiel: JeTEEHTE: |

3. u: Yod 9§ gual WoGuEl YeMvIsSM WIERAH U4 Al WEhdd
foraa| 2x5=10
¥
oA

52/1 5 [P.T.O.
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= fow v fomr =1 aoiw wes A fiw M wreal Y TR § uiE @%hd el
H #hIfT |

Describe the following picture in five Sanskrit sentences with the help of
the words given in the box below.

faferean, Scaeydeq, RmE:, Ia@w, aoE:, S
JAEATI: , STEATIIHRT, J&T:, faepaf=q, goaifor, =&, =)

T (OR)

qes[uTyeTRIsel ArerH Frefafad fawm sftger wsafy: gwepaa:
TS ATwe o |
Wﬁﬁmﬂ@ﬁmﬁﬁﬂﬁmﬁwmﬁﬁwmﬁ
T g faf)

Write a paragraph in five Sanskrit sentences on the following topic with

the help of the words given in the box.
'H?\'Wﬁl:
HISRT
HSSHMI, e, Tooi:, |Y:, goi:, Wafd, T, §9d:, qY=i,
T, 3ufawif=, yamE:, GRf, graf, @9, Jes:, vaid, aee:, @l

==
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@ue: ‘1’ (SECTION O)

W(Ww)
Applied Grammar 25 AF:
aeiffaaarRy @ifEauey wf gfede a1 ol foeal (e
YHAIETH) 1 x4=4

St art § Taitea val § oty sven afv-fese w fafaw)
(e 91 99H)

Write the underlined words of the following sentences after joining or
disjoining Sandhis. (only four questions)

(i) FriEH adl g+3Tmad |
(if) e e wrgeefd|

(iif) Mﬁﬂﬂl

(iv) TET+3f: arewifen: THEO T
(v) TR Sfie e T |

Ay Yt e R @ e e e
EESRLEEREREY | x4=4 ‘I
Srfafag e § TaEifed gat # aue stuan faue fa T faewedt @ @ t
e forflau)| (et =) 99) i
Choose and write the correct compounded or expounded forms of the
underlined words in the following sentences. (only four questions)
(i) = 3 T 4 ———=ft wed|

(=) erIret, (@) vae: (1) S
(i) TofyrEEd gEm: | '

(%) A g aw: 9 (Q) Rt e sw = () 3T st
(iii) fomd|: 7t M|

(%) fazrn A (@) feram: €M (1) faern €:
(iv) = ffee= v

(=) foea: s (@) frermm e () Fared st

5 ExE
O Qi
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(v) TR Eesser |

() @@= e, (@) @=s o], (1) = Seiq.
HefeRaqearRy WfEauem JHfaye gaed fawsy a1 3fuaq 3w
et foean forad | (e Tvageay) 1 x4=4

frferftaa ameil 3 Tarfed el % Sehfavcaal il Sigst I Yo &k 3fed
I el # @ e foafiau) (Shaer =Im we)

Write the underlined words of the following sentences after joining or
disjoining suffixes to roots or words, selecting the correct answer from
the options given below. (only four questions)

(i)  TTOrST: TOEH, SATH|

() TUI+HgY (@) i+ngy () T+
(i) 3¢ aTgaH T+ S|
() Tl (@) T=3q (1) TG

(ili) TSI sEgal qidae|

(%) TE+TAq (@) TB+qgd, (1) UG+
(iv) ‘Todear 5T Hel+3% FrfereRm: At |

() HTh: (@) wifereh: (1) Ao
(v) sfereR fomme Tesfdl

(%) snfeTe:+S (@) dAH+2 () STesh: +8TY

AR T Hosur e Ue: areadiEdd He 3 fore| 1x3=3
eNffaa gae 1 Heswn ¥ faw e sredl i FEET ¥ ared giEdd Fd g
dare 1 g fafam|

Re-write the following dialogue changing the voice with the help of

words given in the box.

e - 5 = gepay ST ?

BE: - A, HAT () |
fiaes: - o war AeTRay wefa?
BE: - AW, (i) — HeWRd 94|
[%E
B
8
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forerer: - T o it smges wafd

BE: - A, 7 AGER: (iii)
aka Al
gAd, HEFAH, T
Fa (OR)
ayeiferRaam s areaufEdd $Ed|
frfafaa am # areaiEd i)

Change the voice in the following sentences.
(%) o fermed Teai|

(@) B o)

(M) T e TR

seiferRaa — et eI SepamTesashTee: Td|

CESRREERERLY)

seiferfag et # b Tt i 9fd depa FeeidE weal § il

(hae 9T I

Rewrite the daily routine using Sanskrit words in place of figures.

(only four questions)

(i) 372 GEH 4.30 A& FreTi|
(i) 5.00 aTEH TSRO TTeY, ATT=s1H |
(i) 7.15 9@ IS |

(iv) 9.45 & iy e FH
‘(v) 10.00 & IE HUH

FefifefiaaaTa R wesmE: 3fd: IR T |

(Fae TEEgETH)

|
I
|
V4ix4=2 {
|

1x4=4

EHE

A
[P.T.O.



Freaferfiaa aril # oo Tl 1 o Tea # R Ty st W@ ¥ AT
ST (Faet =’ 991)

Fill in the blanks in the following sentences with appropriate
indeclinable words given in the box. (only four questions)

(®) — Jun: W2

(@) g °n T

() TISIT AT 77

() T 3: 9 |

(8) — i U= WA o ad: |
Ilo_u-ESlT

Iof1, TRt I3, w9, g

10.  refcTidaTeRry Efsauer, STeH, A& | 313E e weier 3 foram)
(hael JvT=gEay) 1 x4=4
Freferfa et o Taiferd oe o1ers #1 1ype e 1 wvifa w0 ;- R
(et =T 9%)

Correct the underlined incorrect words in the following sentences. (only
four questions)

(%) A Hehaq T |
(@) Sy fade: i)
(1) fRrareh: BEM U yeAf=|
(|1) = qedtees et |
(&) 391 v&: v Aferaq|
@vs: g’ (SECTION D)
ufsa—sraanemy (ufed-sraatam)
Reading Comprehension 30 3T3T:

11. uﬁ%ﬁammmmﬁm%@m

[=
E 4
[EE o

s

52/1 10



farerferRar e 1 YgeRt fT e e & ot wep § frfee
Read the following prose passage and answer the given questions in
Sanskrit.
9 IS TdEES WAl higd: HfTad, AT Y&d FEEdan] - 1
STETHT: | T AR fad m shew? afE wiveg md gaq afe ® feskere
spen Forl wete aTgwe ¢ g 4 HiTed IES: Aeh: - “arfa
St | 72 afd w0 wadt gud ufersd SR FUAN T S!S 39
St ¢
(31) TR ITd| (el TIEIH) {x2=2
U 967 § I I | (e & TH)
Answer in one word. (only two questions)
(=) & =M Y& Hear !
(@) e g fawd Avt hief< w7
(w)aﬁﬁ{ﬁmﬁa:%wﬁimaﬂm? b
() qofare 3 | (e e Bxt=D
ot o H 3 AR (Sherel Tk 9) |
Answer in a complete sentence. (only one question)
() <t hige! AT shied: STeteh, STIvIarH? |
(@) Jeve: wT: iR Sred’? |
(@) veatre: 3y I fan fored | (Fad SeagEam) Vox4=2
far mmu fyeredi # & 3fera 3w g fafan| (et <11 )

Choose and write the appropriate answer from the given
options. (only four questions)

() ‘e’ 3fq foramues wdue foR?

(%) (@) st EIGED
(i) “puem” s o T T SR 7

() #reRt (@) goor (1) T
(i) Ay TS I TYHH

() TR (W) STeteh v (1) TRT:
oho
oA
52/1 1 [P.T.O.
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(iv) *eve: arer: o ok ferdroraes arfe?

(%R) 3eve: (@) sTeTh: () forererTs:
(v) ‘@ st fuee fhame 7
(%) 399 (@) s1aedH, (1) e
aeifrfiad T e eI STl Gepae forad| 6

Srerfarfiad va i TeeRt 2T T e % I Hepa | fafeu|
Read the following poetry passage and answer the given questions in
Sanskrit.

F1eTg afd GHE: TR ;|
wfasiemg e gigmemeoafal |
(31) TR JRd | (et SOTEEH) 1x2=2
e Ted § I AT (A 2 ) -
Answer in one word. (only two questions)
(%) shrenq o wafa?
(W) WS AT YoreEfe ?
(1) @RI, foh Wafd ?
() qofaTRA 3T | (Fae STHRH) 2x1=2
qufarea # 3w AT (et TF TH)
Answer in a .complete sentence. (only one question)
(%) gfgaT: e Hafd?
(@) TTE: HaT SITd ¢
(@) eafEes: 3 I e foed| CEERIEEREEEY Yyx4=2
forw T foreedt © & S See g frfan | (Sheret = W)

Choose and write the appropriate answer from the given options.
(only four questions)

; () ‘st sfafsramree Fque 67

EIEICE (@) wafd ()
(i) ‘Fregfe:’ sore foemye foh sgewa
(%) ‘wfa’ 3l (@) faym: (1) =T
' I
P
12
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(iti) wfd’ vreawy atag & wemy?

(%) wwiTe: (@) gf&’ sfd () wgfer:
(iv) “wwre:’ sfosdue foramd forg?
| (%) shiermg (@) soreafa (1) waifa
(v) ‘wifede:’ sead & gumres ue v ?
(%) e (@) g rE: (1) wgfay:
Srenferfled Tt qfSen SaauwE, S s forad| 6

e foral Areare #t wga faw U ywHt o I wepa § fafau)

Read the following Drama passage and answer the given questions in
Sanskrit.

s - (Rl ol wrar: | S st T SER Targ W)

et~ e aew! faseht v | age: 9 wnf: swag) (e frtssfy,
Sfipeur: TS Te wfewrfa|) _

ofigpeor: - ot | eeios! el 7 id waar| G finde: e
AT B, SAfremata)

IR - | @ g TR T S ate|

AFor:- e | 7 STl A, F0: =er gy fig: Somg s smifw:
T 7% ferrd % UTed | AfE o 9gsaq, el ges @ v |

(31) THFTeA I | (Pt TITEEH) [x2=2
e ¥Teq § I IS (et 3 ) '

Answer in one word. (only two questions)
() Tuq: Sroma w5 m 31 Do o R
(@) ‘= 7 d waar 3fd shgon: & ufq suafy?
() e e qRiY: wfersfa?

(3) qofarerR 3| (Shael TvTiy) 2x1=2
qufarerr & Ia SR (Sheer Th 9) |
Answer in a complete sentence. (only one question)

(F) 9 1, st gfeifi: srgafd a=aq?
(@) afe sfir: 3 wg=ua afe 5 wrq?

=]
3
=

S E
o B

13 [P



(@) T weafaehensr: 3 I foe o (et JEqEad)  Vax4=2
few o farered & & 3fra St g faftaw) (sheret = wre)

Choose and write the appropriate answer from the given options.

(only four questions)
() ‘erfremafy’ st e wdue 6 ?
() “fie: (@) oo () IR
(i) ‘vt 3fd v fomwora fehm?
() Ro: (@) =9, () eI,

(iif) ‘a3 e e SR ? .
() oo (@) RTgET™ (1) @
(iv) ‘T’ sfer ol we foh s

(%) Te (@) ara (1) Ty,
(v) ‘gaeireteae: i e femorey st
(o) e (@) = () Hrepore
14. Y@TfEauar e FeAtmiv ged | (Feaet TeAEgE) il

Yaifd wel % R W e Fwtor fifsw)| (e = Tw)

Frame the questions on the basis of the underlined words.
(only four questions)

G)  @rp Sfar fE 7 ST |

i) e e i = ad il

(i) ToTEH: 1 A Yo S wafdl
(iv) T g et e Tt

(v) e S wEre

15. ST feraE fee, sreferRad veireRa: 31 | . 2+2=4
o i & wgfir g8 et Ffad S gt 3% 1 QO T

Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box.

52/1 | 14
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(%) fagmw SArohsfaH =rggsA=d: yehifear: |

AN T A g I T A
T -
e (i) faga: waygs=: i),
39T Fe A (=) (i) gEgIER (v |
(@) o TeSTeR: A AT T = |
| 9 Fatefed FH @ W: Harfd = ||
HET: -
T (i) S W (i) = F=B(d,
4 (iii) R (iv)— %4 7 I

HSI[AT
w, ¥, wehifar:, e, gar, sftaw, e, Fay

sreferfaamT oA G are fascds: fomn foed| (Fae SeTageem)
freferfad wurt & wafea wa-faed # @ g fafe| (e I’ )

Choose and write the correct gist of the following sentences from the
given options. (only four questions)

(i)  Fad Fehad THEdHH: |

(%) |a (@) fm (1) s,
(i) o g &)

(%) T=BT (@) Fe (1) <R
(iii) oo wrean 3em: fohaam

() 3@ (@) ge4q, (1) e,
(iv) THE TTE AT AT

() == (@) i () gEH,
v) ‘W!qwﬁmﬁ@r:m@

() 3T, () T (1) =hife,

15

Yax4=2
Vox4=2

1x4=4

L




